Case 1: When calculating prediction for the current t (t=time) and the absent score is at t time.
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™ No attendance simulation Case 1 - Fit Least Squares - IMP
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* Response Actual score
4 Whole Model
4 Analysis of Variance
Source DF  Squares
4 Parameter Estimates
Term Estimate Std Error t Ratio Probs> |t|
Intercept 89345238 753
Student|Al 1084524 513
Stugent(8) 1845238 21 182 00921
i Student(C) 65357143 2303076 284
a Subject|Subject X 00952381 1249018 008 09404
"1 Student{A]*Subject{Subject X| 07380952 2114742 035 07327
3928571 14742 186 00860
- it 41190476 2303076 179 00970
4| SubjectiSubjectXTimeof test(1] 24047619 173669 138  0.1895
Subject/SubjectX)Time of test[2] -2595238 173669  -149 01590
A Effect Tests
Sum of
Source Nparm  DF Squares  F Ratio Prob > F
Student 3 3 13894202 1325M
Subject 1 1 02032 00058 09404
Student*Subject 3 3 1786908 17064 02147

1003810 14363 02732
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Although the actual score is missing, the
prediction is calculated by ANOVA during
time of test, t=3. How the missing data is
treated to enable this calculation? E.g.,
missing data is replaced with the mean of
previous data, etc.




Case 2: When calculating prediction for the next t (t=time) and the absent score is during

previous t.

]
s aaE DEEEL=.
s Student  Subject Ylmedlu(@
B SubjectX 1 0
28 SubjectX 1 8
3ic SubjectX 1 100 = Fit Model - IMP o X
4D SubjectX 1 100
504 SubjectX 2 8 4 = Model Specification
58 Subject X 2 E) Select Columns Pick Role Variables Personality: [ e coct Sauares
7lc SubjectX 2 100 =14 Columns V] 4 Acwat score
4l s Empn
8D SubjectX 2 100 st MPNASS | Effect Leverage v
9/a SubjectX 3 78
08 Subject a5 & Time of test T Help Run
= Columns (4/1) T P < 4 Actual score
b > 3 freq Recall Keep dialog open
A 120 Subject X 3 90 -
e Student 1A SubjectX 4 80 By move
::“""‘“,( : e SubjectX 4 )
LS et SubjectX 4 o Construct Mode! Effects
16D X4 100 Add | student
T ————— subject
704 80 )
s 5 €85 | srugentsubjec
s Nest | Subject'Time oftest
20/p Macros ~
21 A Degree |2
2
ac
2 No Intercept
25 A 73
%8 8
27c 95
- Rows 2D %
Al rows 2 29 A P
Selected 1 108 %0
Buces 0 nlc P
idden 0 =
Labeled 0 2ip 0

= No attendance simulation Case 2 - Fit Least Squares - JMP

Actual score missing in previous time (t=3). Now to
calculate new data at t=4
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~ Response Actual score
4Whole Model
2 Analysis of Variance
Sum of Prob » F
Source  DF  Squares
4 Parameter Estimates
Term Estimate Std Error tRatio Proba|t]
Intercept BTSMBA3 1133040 7726
Stugent(4] 1116964 1932536 578
Student{8] -3419643 1932536 17T 00921
StugentiC) 65089286 2049764 318
Subject{Subject X 18571429 1133049 164 01168
Student/Al'SubjectjSubject] 12678571 1932536 066 05193
Student{B]*Subject[Subject ] 4T3 193253 245 2

StudentiCl*SubjectiSubjectX] 34464205 2040764 168 01082
Subject{SubjectX|*Timeoftesti1] 06428571 1932536 033 07429
Subject{SubjectX|*Timeoftesti2] -4357143 1932536 -225 O

Subject{Subject X]*Time of test[3) -1.928571  2.040764 -084 03580

4 Effect Tests
Sum of
Source Nparm DF  Squares FRatio Prob> F
Student 3 3 18964174 161201
Subject 11 1053506 26865 0116
Student*Subject 3 3 2711935 23052 01077
Subject*Time of test 33 474 38982
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Although the actual score is missing in the
previous time of test (t=3), the prediction still
can be calculated for time t=4, and there is
also prediction for t=3, but not the same with
value in Case 1. How the missing data is
treated to enable the calculation? E.g., using
the previous time prediction score as to
replace missing data, etc.




